112CHAPTER 6. COMPETITIVE EQUILIBRIUM WITH INCOMPLETE MARKETS

We begin by defining a competitive equilibrium in this class of
economies.

Definition: A competitive equilibrium in the stochastic economy
is an contingent consumption allocation {{ci}°,}?_, and state
contingent prices {p:}2,, st.
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As in the previous case, we want to focus the attention on the
steady state of both economies. We want to compute the decision
rules for both shocks. Now its agent is going to face the good
shock with a certain probability. For simplicity we drop the time
index and all the notation is contingent the shock. In a symmetric
steady state
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The stochastic steady state is like the deterministic case. We
lower ¢ from the individual with the good productivity shock
until,either the symmetric first-best ¢ = w/2 is achieved or the
participation constraint binds. For the stochastic case, we can
also compute the expected utility associated to the symmetric
steady state, where 7 denotes the probability of continue in the
same state, and 1 — 7 denotes the probability of reversal.
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